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TEST I
UNIT VIINDIAN ECONOMY & UNIT X APTITUDE AND MENTAL ABILITY

“Political Economy” was renamed as “Economics” by whom?

a. Adam Smith b. Alfred Marshall

c. ].M. Keynes d. Lionel Robbins

“ oy FluIe0 QUIT(HENTHTILD™ GTGTLIG] WIMJmeV
@IGUIWIMLCUC L&) ?

a. &L beroidlg b. 160 L7 1TTag60
c. J.M. aeiterd d. Sevwered @ymiererd

“QOikos” means

a. Management b. Wealth c. Households
“op1sBsmerd” (Oikos) ereigher QLIT(H6IT

a. Biteursid b. GgFeveuld C. BGVLEVBIBHET
Match the following

A. Wealth Definition 1. Lionel Robbins
B. Welfare Definition 2. Samuelson

C. Scarcity Definition 3. Adam Smith

D. Growth Definition 4. Alfred Marshall
QUT(HSHBHIH

A. Qgevar BV HEID 1. Bevwienied @ymLieirerd

B. mev Bevdsmemiid 2. FmpBeue0F 6T

C. uUBBTEGmB ©)605 H6mILD 3. 9L beroLilg

D. cuenii&dfl ©evdbamemild 4. gev.”.IJL  OTTEG60
A B C D

a. 3 4 1 2

b. 4 3 1 2

c. 4 3 2 1

d 1 2 3 4

The terms “Micro Economics” and “Macro Economics” were first used by

whom?
a. ].M. Keynes b. David Ricardo
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c. Irving Fisher d. Ragner Frisch
mleteuTHelwed o@mid  Guflued OuTmelwed 6B OCFTBHET (PHET  (LPSH6eVIEV
wImgmed UweTLBSHSLILL L GI7?

a. .M. &esterd b. GLaill MammGLr

c. ®Talm Leada d. ygnéert . .0flay

Micro Economics is known as

a. Income theory b. Price theory

c. Expenditure theory d. Consumer theory
mlewTeoflulll  QLIm(hHerfluIed GTIMILD  SHIMLPSHBLILIBH MBS
a. eumeutuwl Gasmum@® b. alenevusGam Lim®p

c. Ogzevey Gamlum(h d. msTGeunt Gsm um®

The first blue print for Indian planning came from an engineer
administrator

a. M. Visvesvaraya b. Nehru

c. S.N. Agarwal d. M.N. Roy

@hsHwumaler S LIOL IHHBTET  aUMILIL BIH6T  (LPFH6VI6L QuTpSlwimerTiT
BiTeuTSWIL O(BHS  eubSH6eT

a. M. allero@euerveuyuim b. Gmm

c. S.N. oisiTeumed d. M.N grul

Consider the following

Assertion (A) : Ramachandra Guha calls J.C. Kumarappa as “Green|

Gandhian”.

Reason (R) : J.C. Kumarappa was the founder of modern environmentalism

in India.

a. (A)is true, (R) is false.

b. Both (A) and (R) are true and (R) is the correct explanation to (A)

c. (A)is false, (R) is true.

d. Both (A) and (R) are true and (R) is not the correct explanation of (A)

By (A) : SQumdFshay GaT Seiser J.C. @ylumemel ‘UFdF  ShHS’

6Tl DIWLPSHBHT.

amreord(R):  J.C.  @wriur  @hHwuneler  aBpmiF  Goedusd @S|

DI SHFHNMOL L.

a. (A) gf, gemed (R) Heuml.

b. (A) wmpi (R) SrewiG of, Gweud (R) eeug (A)-alBg Ffwme
Qe aLD.

c. (A sam spemmev (R) &l

d. (A) wppw (R) Spewid &M, eemed (R) eeiug  (A)-albg afuwime
16T &HLO6VGL.

The concept of economic planning in India Fiver Year Plan is derived from
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a. America b. England

c. Russia (then USSR) d. France

BphHumaled mbHTHIBSH D LMmS6eT eutuleorsll  OUTHEMTHTT  HI L LOIL M6V
GLoBOBTeTEHD (B MRS (HHH HHANSSUILL L HI?

a. &M &ST b. @nideothgl

c. whbmaw Gzmalwg geswr (USSR) d. dgmeierd

Consider the following

Assertion (A) : The seventh five year plan was successful

Reason (R): For the first time, due to the pressure from private sector, the

private sector got the priority over public sector.

a. Both (A) and (R) are true and (R) is not the correct explanation of (A)

b. Both (A) and (R) are true but (R) is the correct explanation of (A)

c. (A)is true, (R) is false.

d. (A) is false, (R) is true.

Bl (A) : gpTeus LhsTEh FHLD CeuBysl CLBBSI.

amyenoid (R) : (oS weopwns UTEIgmBSE Geums  HIWMT  HiMBHS

(PTEIMENLD  CULPMIBLILIL LS.

a. (A uvpp R) Grewiw &f, oemed (R) eeug (A)-alBg  afwime
A1l6M&EHL06V6V.

b. (A) wppw R) Ggewo &M, Goaub (R) ez (A)albg aflwme
a6 L.

c. (A af, gemed (R) seum.

d. (A) sam spemed (R) &l

Which of the following functions of NITI Aayog is/are incorrect?
I.  To foster cooperative federalism

II.  To give final approval to five year plans

III. To implement schemes for rural development

IV. To advice the State and Central Government on levying taxes

a.land II b. 1, Il and III c. II, Il and IV d. Only IV
Ba Cumdhalen Lenlsel GBHH HUBTERT SnBHISHMET &6l 5ls
I L BBy Fnl LT lenul 6U6ITSHHe0

II.  psrewi@ HLESEhSES BBIH LD Si6ridHe0

III. eomys eueniFFdbsmen L MIGmeT DIDEOLIHEHHISH60

IV. wgdwu 1oBmib 1omplev  S&Esens@ alfl  auged OFHTLIUTS  Difleyeny
GUILMIG BH6V

a.l wpm 1T b. L II wbgw III c. IL III wpwwo IV d. IV wl @G

According to the evaluation report of NITI Aayog related to Minimum
Support Price (MSP), which of the following statement (s) is/are correct?
a. MSP is declared before the sowing season.
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b. The idea behind MSP is to give guaranteed prices to the farmers and
save them from price fluctuations.

c. With globalization resulting in free trade in agricultural commodities, it
is not important to protect the farmers from the unwanted fluctuations
in prices.

a. (a), (c) only b. (a), (b) only c. (b) only d. (c) only

P& oBursder GombaULF UHTe| alemev (MSP) Gsmiiumer w&HIH

ONGmEUlT Ly SPETEMID  6hdH  Fnbul/ FmBuiser  gflwmerg/ Fllwmereme

SLGLD?

a. “GemphIHLLTF DT allenev
SIlaleSUILIHLD.

b. “Gopbsul s  Hre| almed” uler CETHED  aleuFTulsEhHE — elaney
® SHHIAUTHID DeMLILG DLGLD.

C. 2 _6USLDWIDTSHSHIEINTED gBLL (HeTeN HHIEG HOLWBMB aUTHHBHH N allenereurd
aleugmuw  Qum(peTseler alemeouled gBUBL CHeneuwBm gmm EBeHHmIBHeTe0
B mbHEH aleugTulsemen STLLGN (LPdHSIUILDEV6V.

a.(a), (c) wL (B b. (a), (b) wL G c. (b) L G d. (© @G

2

alengLIL|5 BHTVHFHMBS (LpeirGL

The functions of NITI Aayog are

1. Decentralized Planning 2. Harmonization

3. Capacity Building 4. External Consultancy

Out of these, which are correct answers?

a. (1) and (2) b.(2)and 3) c. (1) (2) and (3) d. (2) and (4)
NITI - &1 LiswilaB6mTeueT

1. uFeueLTSHSLILILL HILLLD

2. PSHHmFa]

3. &meir Gour(y

4. Geueliliym LGeoraenent

a. (1) wBpio (2) b. (2) wimid (3)

e (1) (2) wipd 3)  d. (2) wipd (4)

‘NITI Aayog’ substituted Planning Commission was effect from

a. January 1, 2015 b. February 2, 2015

c. January 5, 2018 d. March 15, 2015

HLLEGWBG WIBBTS ‘P UCUTS™ BL(PMBEEG aUbSI

a. xereufl 1, 2015 b. Magyeud 2, 2015

c. ereufl 5, 2018 d. wmg 15, 2015

Who said “Real India is to be found in villages and not in towns or cities?

a. Jawaharlal Nehru b. Mahatma Gandhi
c. B.R. Ambedkar d. VK.R.V. Rao
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“o ewiemowinedl  @hHwT  aumbeugdl BaIHIBNGT  LpBaIEIEaNGT  Be0enev
SITomiGeiled HT6r 6T6eim Fnpsluleu  uwimiT?

a. geuamitevred Gb(m b. warH0T HMHS

c. BR. oubBusasit d. V.K.R.V. grmei

Red Revolution deals with production

a. Meat b. Tomato c. Shrimp d.aand b
FeuliyligyL_ gl ® BUSHUL 6T OSHTLTLENL WG]

a. @emB&Fd] b. séamef C. @mTev

d.a wBmib b e sl GQxfwalsdenso

Which country exported wheat to India by using public law 480 (PL480)?

a. Russia b. China c. USA

d. France e. Answer not known

obd  ®BTH  Ourg  Firwbw 480 (PL480) & uvweu®ss SpdHuralBs
Gaxrgimwenuwl gmmIng CFUIHSHI?

a. Syeaquim b. genm c. oGwfaat

d. ynesia e. el Ozxfluwalevemsv

What is the main objective of Industrial Policy Resolutions 19487?
a. Introducing Mixed Economy

b. Introducing Capitalist Economy

c. Introducing Socialist Economy

d. Introducing Consumer Economy

e. Answer not known

CHTOBOETeTeN® SHiToTerd 1948e1 (pHBW GHToHSD 6T6iT601?
&e0LIL QUTHEMTHTTHMS DIMB(PSLILIBSHHISH60
Waeuteiiggien QUIBMTSTISHMS SIBWPSLILGSSHIH60
QUTHIAL WD CUTHEMTHTTHMS DIBI(PSLILIBSHHISH60
BIST6] CQUIHNTHITHMS DIBI(PSLILGSHHISH60.

alewL G flualstenev

P o T

Choose the correct statement
1. The owner of the land pays land revenue directly to the government
in Ryotwari System
2. The collective body of villagers pay the land revenue to the
government in Mahalwari System.
3. The ownership rights of use and control of land are held by the
farmer himself in Zamindari System.

a.1, 2, 3 correct b.1, 2 correct c. 2 correct d. 1, 3 correct
gflwmer saundslwmisenen CHiThHoSHMH
APPOLD STUDY CENTRE PH: D44-24338436, 4287555, 9840226187
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1. @rwggieumd (wemuled Hevuddlem o MenowimenT BHlev euHeuTenw! GCBIQUITS

SIFTRISHIHMBG CFVIHBHIHMBTT.
2. wameveumfl  (pedmuled  HImo  wHFeledT Sl Lenwly  [HlevelheUTemW

SPFTHBSHBES CEWISSISBSI.

3. @b (pempulled MHevddler LHTer LWaLTh  oB@ID &L HLLITL Qe
o flewio aleugmuilsd@ OFThHBHLOTEIHI.

a. 1, 2, 3 &M b. 1, 2 & c. 2 g d. 1, 3 gl

Consider the following

Assertion (A): The government decided to nationalise 14 major commercial

banks on 19 June 1969

Reason (R): Nationalisation of Banks will help to curb private monopolies

in order to ensure a smooth supply of credit to socially desirable sections.

a. Both A and R are true and R is the correct explanation of (A)

b. Both A and R are true and R is not the correct explanation of (A)

c. Aistrue, R is false

d. A is false, R is true

e. Answer not known

LTelreu(heuemeuBens U185

&Bp  (A): ops 14 Guflw  eumias emdsomen grer 19, 1969 il

Cxpdlwiwwiorss (PYe| CFUISHIH.

smpend  (R):  Gaxdw  wwworésiu’ L amdser  seilwnt  (wBsifenemids

SLBULGSHIHINSBGL FpssHFHe0 CoHemeuwmer LGHBEHHEE Ee0GUTHES S 6l

SleMlusBE&GD CumSHaIWTE B(HHEGLD.

a. A ppd R @Grewigc gf  Goab R aeug A alBg —gfwmer
a6 SHLOTGLD.

b. A wppb R Gyewid il Goed R eaeiug A alBg gfiwner alendasinede

c. A gf, R saim

d. A seaum, R &

What is the main theme of Twelfth Five Year Plan?

a. Faster and more inclusive growth

b. Faster, more inclusive and sustainable growth

c. Growth with social justice and equity

d. Establishment of the self-sufficient economy and opportunities for
productive employment.

LI Q6T MD eQhEHTeWIBHBHIL L SHH 6 (PSPl CHTeHID 6166017

a. aledyauTe BMID HIHBOTET 2 6ITeML Sl QUeTTEF WMGLD.

b. alenyeutenr oiFsI0TeT 2 6iTeNM_SAUI OBBID BleNeOUITET UeTTFAWMGLD.

C. Fepd BHSHUL T FnlgUl FIOIDTE QUGTTEFF WG LD.

d. sa@eiepel  QUTHEMTHTISHMS o (HaUTHGH60 BBID DS TEILDTET
GouemeveuTUILINL  GULDMHIEHSH60D
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Consider the following

Assertion (A): Myanmar is otherwise called third world nation

Reason (R): It has not fully utilized their resources like land, mines,
workers and has low per capita income.

a. Both A and R are true and R is the correct explanations of (A)

b. Both A and R are true but R is not the correct explanations of (A)

c. Aistrue, R is false

d. A is false, R is true

LesTeu(HeueToUBenMm  SHLUISH

gaBpl (A): OWTETOT cpSIBID 2 608 HTH TaBemSSLILIBS MBS

smpend (R): o131 61  euenmisenmen [Hlevld, SHIBISHIBET, ©_eDIPLILITETSHE
DB WQBENB  (LPILMOWTS LWSTLIBGSHHaN606mev, GOgUID GemBHSH SH60T  6UHEUTUI
OB TEOTL G

a. A oppidb R @yewipio g Guoeuid R ateitugy Ad@ sflwimer alenésion@ip.
b. A wppb R Gyewipio Ml Gwed R eaiug Adg aflwmer allendsiosden

c. A gf, R sam

d. A seaum, R &

Choose the correct statement
1. Indian economy is the sixth largest economy of the world
2. Around 60% of the people in India depend upon agriculture for their
livelihood
3. Indian Economy has a place among the G20 countries
4. India is third position in terms of purchasing power parity (PPP)
a.1,2,3,4 correct b.1, 2, 3 correct

c. 2,3, 4 correct d. 1, 2, 4 correct

gllwmer gappisenet BxiTe] OCFu1s

1. @bHw QUTHMTHTID © 60HleT EmTeud Ouflul CUTHETTSHTILOMGLD.

2. @bHwraled 60 FHAIHD WEHHET FHEIG6T UTDATHTTSHBETE aleUFTUISHMS
BLDLIU|6iT6IT6OTT.

3. @pFHut Qurmenmsmyb G20 mrhHseilsd G DOUBBIETENG.

4. il @Hper Fwopeneoulsd (PPP) @bHun cpaimsrd G SHed o sitengi.

a. 1, 2, 3, 4 g b. 1,2, 3 af ¢ 2,3, 4 g d 1, 2, 4 &0

Which one of the following contributes a lion’s share of the GDP in India?
a. Agricultural Sector b. Industrial Sector

c. Public Sector d. Service Sector

LesTeumeuataummiel  6hHOleuTeiml DbHwimalet Gorshsd o 6T (G 2 BmudbHdHluled
(GDP) Guepd umig eudldbdlama?

a. Gauenmewt Hlenm b. GamiBsienns

c. QUTHISHHIMB d. uenisem Hiemm
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Match the following

Authors Books/Papers

A. Ambedkar 1. Choice of Technique

B. J.C. Kumarappa 2. Ancient Indian Commerce

C. V.K.R.V. Rao 3. Christianity: Its economy and way of life

D. Amartya Kumarsen 4. What is wrong with Indian Economic life?

QUIT(HhSHBHIH

SLFMNWITBGIT BIT6OE6IT [/  UI6a|HBL (Hen]TH6l

A. 91bBug it 1. GampeomI ush OMey

B. ]J.C. @yl 2. UIDHRIBTeL @bFHU alTSHSHHID

C. V.K.R.V. grmeil 3. dpflerdgleld: SIH6sT CUITHEMTSHTT(PD GUTLDEH S

(PEDBULD
D. siwirsgawngont Qe 4. @bHwl Gurmeiuied eumbelsd eleen Heumi?
A B C D

oo oo
N W N

3
4
1
2

O R N L

1
2
3
4

Consider the following

Assertion (A): Many countries considered India as a global market.
Reason (R): The living standard of Indians have improved after LPG era of]
India

a. Both A and R are true and R is the correct explanations of (A)

b. Both A and R are true but R is not the correct explanations of (A)

c. Ais true, R is false

d. A is false, R is true

LTereu(meuemeuBens iU

FaBEl (A): U BTHSH6T BHHUITME! QRH 2 605 FHMBUTH &(HDHIH D6
smpeod  (R): @pHwureler  LPG  somisssiBe Ung Sbduimserer
AUTDHMBSHFHTLD 2 WIMHH(HHSHBS.

a. A oppid R @yewipio g Gueuid R ateiiugy Ad@ gflwimer alenésion@ib.
b. A wppib R Gyewiio #fl Gwed R eaiug Asg gflwmer allendsiosden

c. A gf, R saum

d. A seam, R &

Consider the following
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Assertion (A): Indian Economy to be a “heaven of macroeconomic stability,
resilience and optimism”

Reason (R): According to the Economic Survey for the year 2014-15, 8%
plus GDP growth rate has been predicted, with actual growth turning out
to be a little less 7.6 %

a. Both A and R are true but R is not the correct explanations of (A)

b. Both A and R are true R is the correct explanations of (A)

c. Aistrue, Ris false

d. A is false, R is true

LesTeu(HeueToUBenm  SHLUIH

app (A): @bHw CUTHMTSTID “Hedevds, o pIFamuibs, FMbs IS TSI
OaTeniL. Cuflwed QUTHEMTEHTIHSHBEHTT OFTTHHLD” HLESLD.

smewib (R): Gummenmany eyuiaupldbamasuisriy 2014-1594b yewngsster GDP
aenisdl  alsd 8% b BEG  aer  PHitewuilsa  BmbHCUTHeID
o awienowiter alenTFd SemsHal. FBm Gopans 7.6% s SHbHS.

a. A ppid R @yewiid sl Guoeuid R etaiugl Ad@ gflwimer aflendsioeosv.

b. A wppib R @pewipio Ml Gwed R eaiug Asg aflwmer afendsiomgd

c. A sf, R seapml

d. A seaum, R &

The population growth rate in India is as high as per 1000

a.1.3 b.2.8 c.2.3 d.1.7

ObhHwmaler 1bsHTOHTMS DH S eelbeum 1000 Bu(peHGLD

aeIB AiHHHeL IS BT HS GBS

a.13 b.2.8 c.2.3 d. 1.7

Even though India belongs to 17.5% of world population it contributes less
than of the world’s income

a.7.2% b.5.2% c. 1.2% d.3.2%

® 05 I&HHTOHTmHUIL @bhHwuT 17.5% 5 OEBSTID, DiFH 2 605
QU(HLOTEI S )60 SGD GmpaTasGal LmisalsS B

a.7.2% b.5.2% c.1.2% d.3.2%

Match the following

Census Year Sex Ratio

A. 1901 1. 933

B. 1951 2.946

C. 2001 3.940

D. 2011 4.972

QUT(HSHBIH
APPOLO STUDY CENTRE PH: D44-2433843E, 428675455, 9840226187
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HHOBBLIL £ 6mT1([H uTeder all&lgLd
A. 1901 1. 933
B. 1951 2. 946
C. 2001 3. 940
D. 2011 4. 972
A B C D
a. 2 4 1 3
b. 4 1 2 3
c. 4 2 1 3
d 2 1 4 3
India’s forest cover in the year 2007 is
a.19.21% b. 21.02% c. 20.61% d.22.12%
2007 8ud spemiged AbHuimalles HT(HHerlle LFLILIET6]
a.19.21% b. 21.02% c. 20.61% d. 22.12%

Choose the wrong statements

1. Kerala has the lowest birth rate

2. West Bengal has the highest death rate

3. Uttar Pradesh has the highest birth rate

4. Odisha has the lowest death rate
a.1,2,3,4 b.1,2,4 c.1,3 d.2 4
SHUBT UTHBILmISmen CHTHOSHMH
1. Gayeonm WabGmBHS LBl aldddmsd uBMHESBSI.
2. CuBe aumsTed SIFH SleNe] @B alSHHmEH CUBBHBSHBSHI
3. g;’r,ﬂm_‘ﬂu(%g.,&m .9@‘.1&5 S|6TT6) |_‘ﬂm|'J.|_| mfﬂaﬂg,g'f.,ﬁmg, @ug’;@@&%&ﬂmgﬂ
4. guegt asd GmBHS SieTe] Gl eldssme CUBBIHSSBSI.
a.1,2,3,4 b.1,2,4 c.1,3 d.2, 4

Choose the correct statement
1. India is first place in Sheet Mica Production of the World
2. India contributes 50% of Mica trade in the world
3. India has only three main gold mine regions
4. India is third place in coal production of the world
a.1,3,4 b.1,2,3,4 c.2,3,4 d.3, 4
gflwmer eursddSlwmsenet GHThHoH®
1. 2 60&leT MDGHBTHITET © MBUSHHUND GEHHWT (PHIL HH60 2 66N
2. 2 qdlar mdsT aleisshded BpbHwralear ukseiing 50% o@D

3. @hHWT cpadiml (PSS HHSF &JEES LUGHHmen oL HEw CuBMI(HebSmE
4. 2 0&elT HevdHdM 2 BUSHUTIL SHSHWT PSIBTD B HH60 ©_6iTeng)
a.1,3,4 b.1,2,3,4 c.2,3,4 d. 3,4

APPOLO STUDY CENTRE PH: D44-24333436, 42867555, 9840226187
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When were Air India and Indian Airlines merged to form National
Aviation Company of India Ltd (NACIL)?

a. August 27, 2007 b. July 27, 2006

c. August 27, 2008 d. July 27, 2014

eOUTIREl g @hFHwr  B@GID  BHSHWET  GTenevaIed  [BIIIeIEIhIGET
BmesalUl B Db ChFw ealiorenr CuTdGHauTHd BBl 2 (HeuTsluig

(NACIL)?
a. opHel. 27, 2007 b. egemev 27, 2006
C. eymervl. 27, 2008 d. sgemev 27, 2014

Where did Indian Railways provide Wi-Fi facility firstly in India?
a. Chennai Central Railway Station

b. Bangalore Railway Station

c. Mangalore Railway Station

d. Delhi Railway Station

@hHumaled (waper (pHeond  WIi-Fi  eugdHowr @hHuw  BruleoBel  eImiG,
QULDRISIUIG)?

a. Ogeatener GFea J60 @yuiled@eu HlewevUID

b. QumisEenT @ruieuBer BeneOUID

C. mIGEHT BFuieuBel Hleneouild

d. GOLeved BrulebBeu Memeuild

Which of the following is renewable energy sources?

1. Wind Energy 2. Tidal Energy

3. Geothermal energy 4. Biomass energy

a.1,2,3 b.1,2 c.1,2,3,4 d.1,2,4
LNesTeu(meuaTouBmIel 6% LSIINSHHInIgUl OTFHSH P60 aUETRISET SLGHLWD?
1. &aTBW F5 2. % F5I)

3. yalQeuliu F&53) 4. o WIMGHFTeT Fobg)

a.1,2,3 b.1,2 c.1,2,3,4 d.1,2,4

When was Education changed from state list to concurrent list?

a. 1956 b. 2006 c. 1986 d. 1976
&evall TIOLITIDS! OTHBI6VL L IQuIeleVl(hbg! OUITSIILIL 19UIeIHhE, OMHBBLILIL L &7
a. 1956 b. 2006 c. 1986 d. 1976

Choose the correct statements
1. First Steel Industry established at Kulti
2. First Large Scale Steel Plant (TISCO) started at Jamshedpur
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3. The first public sector unit was “Vishveshvaraya Iron and Streel
Works” at Bhadrawati

4. Steel Authority of India Ltd (SAIL) was established in 1976

a.1,2,3 b.1,2,3,4 c.1,3,4 d.2,3

gflwmer eursHlwmsenet GHTHoH®

l. 1p&H6e0 6. & CFHTIHBFTMEL GH60LIgulled HimIEULILL L Gl

2. pFev  Quiw  sjenalevmer  or..g OGamiBsTensv (TISCO) egmbGagl L fed
OHTLMISLILL L G

3. (WFHEI  (PHeUed FHpeuiulL  QUIGHISSHIMB  HBeURID USITeuHuled o 6iTen
“allerdGeusroguiwim @ pIbL| 61..3 CHTH60” SLEGLD.

4. @pHHW o (hdHG Spememwid (SAIL) 1976 @60 Bimieuliul L gi.

a.1,2,3 b.1,2,3,4 c.1,3,4 d.2,3

38. Choose the correct statements
1. The First modernised Jute industrial unit was established at Reshra
2. The first Indian Modernised cotton cloth mill was established at Fort
Gloaster

3. The First mechanised paper mill was established at Serampur
4. First successful oilwell was dug at Digboi

a.1,2,4 b.1,2,3 c.1,2,3,4 d.4,2,3

gllwrenr eurddlwmisemen GHihoHH

1. WpHe0 BHaIDIILGSSIUL L Fewied OHMOBFTENeL Gragrmaled BmieUlILL L &)

2. @bywnaler (WHev Bl ILUBGSHIUILULL UHSSH SHewl o Bushsd Suemev GumT
&BenmmerdLifled MmIeulILL L G).

3. (PHEL BUIHATHIHTeLTET HTHH L6V GFFTDLLM60 Himeuli L G
4. 1pFHev OleumpsldrLomest 616wt 0lewTU IS emTml 19&HLTUN60 GHTewmrL LIl L Sl

a.1,2,4 b.1,2,3 c.1,2,3,4 d.4,2,3
39. Match the following

Public Sector Steel Plant’s Location Assisted Countries

A. Rourkela (Odisha) 1. Russia

B. Bokaro (Jharkhand) 2. Germany

C. Durgapur (West Bengal) 3. UK

CQUT(HHHIH

QUT(HSHSHIMB 61.".F HimIeueT DienLoailL LD © Halwl HTHSH6N

A. apTBxmeom (RIoam) 1. ya{uim

B. Quman@ym (8gmiTddeuL) 2. Gmmipent

C. afamyT (BoB@Eeanisid) 3. @mRIFeumhHgl
A B C

a. 1 2 3

b. 2 1 3

c. 3 2 1
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1.

A2,

43.

A4,

5.
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d 2 3 1

United Nations Development Programme has been publishing Human|
Development Report annually since
a. 1985 b. 2005 c. 2000 d. 1990

(WPHO Q&S BTHSB6T (PATICaIBBe: Fnl LD @6lbleuT(h SL6wI{HLD
el Cowum’' G spidmeemwil LFsgn CFuisBgl.
a. 1985 b. 2005 c. 2000 d. 1990

Kamal invested X 3,000 for 1 year at 7 % per annum. Find the the amount
received by him at the end of one year.

a. Rs. 3210 b. Rs.3100 c. Rs. 3330 d. Rs. 3500

B0 @J YUMgBGH 7% el ainsHed I 3000 GFOEHMTT. @ITewi( (Lpigaied
Sjal] GUBID OCGHTENHENUI  HITCIISb.

a. Rs. 3210 b. Rs.3100 c. Rs. 3330 d. Rs. 3500
The simple interest at x% for x years will be Rs. x on a principal of
a. Rs.x b. Rs. % c. Rs. 100x d. Rs. 1)?—20

ahd DIFTRH X% HANAU 195G X QUIHLHBIBEHDHE (h.X 616m Hellaul 1genuid
SH(HLD
a. Rs.x b.Rs. 12 c. Rs. 100x d. Rs. @

X X

In what time will X 5,600 amount to X 6,720 at 6% per annum?

a. 3 years b. 3 i years C. 3% years d. 3% years
asbpamer opaiBseie X 5,600, 6% i ey ainsHHe, dEmBHe0 I 6,720
AGLWD?

a.3 syemiBmet b, 3 sueiBmen c.3 § suehGsen d. 3= sueiBmen

Vishal deposited Rs.200 per month for 5 years in a recurring deposit
account in a post office. If he received Rs. 15,660. Find the rate of interest
a.12% b. 5% c. 10% d. 9%

alagmed  @alOeUT(H 1TH HOUSSHHID 5200 & T DEHFOSHHD 5
W BHEHEHEG OCFNHSH aUbHSTT (paled ST eH.15,660 CQUBBTT eefled 6ullg
QIFHLD 616016017

a.12% b. 5% c. 10% d. 9%

If Ramya needs Rs.9, 00,000 after ten years, how much should she invest in
a bank pays 20% simple interest?
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48.

49.
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usHa SpewigBGl UpE  gowumelBg  05.9,00,000 GCxpemeuliuBaHmEH  6Teed
opewtgB@®  20%  sefaully el  aumduied, FOWT  6leIaI6Te] DIFUTH
CFavsHs Geuewi(BLd?

a. Rs. 2,00,000 b. Rs. 3,00,000 c. Rs. 4,00,000 d.Rs.5,00,000

If an investor wants to receive Rs.10,000 as simple interest every month and
rate of interest is 8% per annum then the amount he should invest is

a. Rs. 25 lakhs b. Rs. 20 lakhs

c. Rs. 15 lakhs d. Rs.8 lakhs

@ (WHeSL LmenT Lggl wrsd $Hell euliguimsd ¢h.10,000 GuB all(HLSIDTT. aul g
APl SpemiheHE 8% eailed T (WHel®h GFuiw Geuemtgul COFHTend eTewtent?
a.ep. 25 6ol &I b. .20 6ol &b

C.¢H. 15 6UL&FID d. ep.8 el &b

Simple interest on a certain sum in %of the sum. The rate percent, if the

rate percent and time (in years) are equal, is

a.6% b. 8% c. 10% c.12%

QM OFTmasITRN SOl QUITEOIH  DISHOHTeNSU 6 %LDLFEI&SIT&B o _6iTeNgl.

Gueuld eul YSiHIOTEIH STV SlNalB@G FIOWTH E(HHIHTL DHSH Il @iFHlD
616116)161T6)|?
a.6% b. 8% c. 10% c. 12%

Find the simple interest and the amount due on Rs. 6,750 for 219 days at
10% per annum.

a. 205 b. 305 c. 405 d. 415
qHUTUI 6,750 219 BT SEhHEG 10% el yaisd Hafel g STews
a. 205 b. 305 c. 405 d. 415

A lent 1450 to B for 2 years, and 1 500 to c for 3 years, at a certain rate of
simple interest. If he received altogether from both 1 120 as interest, find the
rate interest.

a.3% b. 4% c.5% d. 6%

A aauam B &@ 2 oieuibasendd 5450 @ sLamd QBTBHHTT, A 66T
C 58 3 omipsendd @500 8 sLams aEThHHTT, @elalmaurhbd m.120|
SHeolaul 1puImTs CBTHHSHEIT, 6lele0 LewIh Il ly QiFHLD 6l6laI6Te ?
a.3% b. 4% c. 5% d. 6%

A certain sum of money amounts to Rs. 8,880 in 6 years and Rs. 7,920 in 4

years respectively, then the principal amount is
a. Rs. 6,000 b. Rs. 6,100 c. Rs. 5,100 d. Rs. 5,000

APPOLO STUDY CENTRE PH: D44-24333436, 42867555, 9840226187




b1.

b2,

b3.

oZ3

DO,

|15 | Page

DM
Qb GBUILL 9oFenag 6 iemihHelled oh. 8,880 SiHeyb 4 SLewi(BH6eT60 o
7,920 SLFHGD LOTMWID 6GIEIMBIT6D DIFEOTGIS LG LD.
a. ep. 6,000 b. e 6,100 c. em. 5,100 d. . 5,000

Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 months.
a. Rs. 600 b. Rs. 700 c. Rs. 800 d. Rs. 900

7,500 &3 8% a1y &ipd @ QUBHLID 6 ITHBIGEHHDHTE Hi Ul lgeuish
BTG

a. Rs. 600 b. Rs. 700 c. Rs. 800 d. Rs. 900

The Simple interest on a certain sum for 3 years at 14% per annum is Rs.
235.20. The sum is?

a. Rs. 480 b. Rs.560 c. Rs.650 d. Rs.720

R OpTewsUleT H& al'ly 3 eihEEnrsG 5.235.20 Goabd euly eisHld
14% etafled DIHOHTEnBHUNEHT 1DFH1L]?

a. Rs. 480 b. Rs.560 c. Rs.650 d. Rs.720

The simple interest on Rs.68,000 at 16§ % per annum for 9 months

a. Rs.1, 200 b. Rs. 8,050 c. Rs. 8,500 d. Rs. 1,020
LEWCETE 16% % aispd ep 68,0005@ 9 THHHBEHTET Heoil Gl IQUITETS)
a. Rs.1, 200 b. Rs. 8,050 c. Rs. 8,500 d. Rs. 1,020

The simple interest on a sum of money will be Rs. 200 after 5 years. In the
next 5 year principle amount is tripled. What will be the total interest at the
end of the 10th year

a.¥800 b. ¥650 c.¥700 d.¥600

RH COFHTHBEFTH Hl A QUITEHIH 5 aUBLSIHe0 h 200 SDLIBIH. DIBHHS
5-aU(HLHFH60 (PHeVL(H OHTensWTIgH 3- WLRISTHBSHI 61660 10-au(HL  (Lplg&TleD
SHmLSGHD OoTHs el ly COFHTens elelalerne,?

a.¥800 b. ¥650 c.¥700 d.¥600

A sum of money triples itself at 8% per annum over a certain time. The
time taken is

a. 20 years b. 22 years c. 25 years d. 30 years.

@  GEIIIL  oFwTaigh WIBhE 8% ey  einpsHed eyl
DL RISTGHUSBE LNgsH@ID SHT6evlD

a. 20 &yew1{H®6 b. 22 &y emiBser c. 25 guamiBseir  d. 30 eI BHeNT
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If simple interest for a sum of Rs 3100 for 4 years is Rs 40 more than the
simple interest of Rs 2900 for the same duration at the same rate of interest
then the rate of interest is

a.2% b. 5% c. 8% d.10%

ah. 3,100 & 4 UBLMSEHSG GBUULL 'l alHHHHed aumHD Heleul g
fh. 2,900 && o6 HTLHHMBEG SICH au'ly alBHHHL aUHLD Heolleul 1penul
alL h. 40 SIFHIOTEH 2 66Nl 616360 a1 QB HLOTERIH

a.2% b. 5% c. 8% d. 10%

Mr. X borrowed Rs.5,000 - on 7th of June 2006 and returned it on 19th
August 2006. Find the amount he paid, if the interest is calculated at 8%
per annum

a. 35140 b. I5080 c.35210 d. 35280

Hm X eeeuT 7.6.2006 oim X 5,000 sLemsl OUBDI DewsH  19.8.2006
Sl Hpbu CFasHerT SpeigBE 8% aipld ey HEureSILILLLT60 6
CFVIHFHUI OHTMSH 61611616167

a. 35140 b. %5080 c.35210 d. 35280

Sathish kumar borrowed X 52,000 from a money lender at a particular rate
of simple interest. After 4 years, he paid X 79,040 to settle his debt. At what
rate of interest he borrowed the money?

pa. 10% b.15% c. 13% d. 8%

FHOIGIOTT  eleilIaN]  @(h HLeT  6UphlG BUFLO®mBSH  @5.52,000 23 @
GBUILL  seleully aiepsHHe0 sLaMel  QuUBBT]. 4 YeuihseT SPSHBH
FHaFSHOMT h. 79,040 & OWIHHH OHTMSHIWLTHEF OCFIGHHeN] 6lele0, ULy
AIHHMSH BHTEWIS

a.10% b.15% c.13% d. 8%

A man invested % of his capital at 14%, % at 16% and the remainder at 20%.

If his monthly income is Rs. 561, the capital is

a. Rs.3300 b. Rs.3920 c. Rs.3320 d. Rs.6732
QUHAUT  HAGH  CLPGVH 6T E ) 60T % Lmemd  14% el 195G, % oL miend 16 %
Al &G, BHHBTmHmW 20% el 9b@GHd (PHeSH OCFUISBIT. DISH6T CcLpevLD
ST 1OTSH QUHLOTEIOTS H. 561 QUBISBIT eTelled o (PHeShH OFUIH CLOTSHS
OHTNS 6161666, ?

a. Rs.3300 b. Rs.3920 c. Rs.3320 d. Rs.6732

At what rate of simple interest a certain sum will be double in 15 years?
a.6.% b.53% c.52% d.62 %

Qb GUUILL OgTmswmaid 15 aumLmISeTNe0 T liumeusBg eeflul  aully
& HLD 61616017
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a. 6%
3

b.51% c.529%
3 3
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TEST 1

UNIT VI INDIAN ECONOMY &
UNIT X APTITUDE AND MENTAL ABILITY

1

2

3

4

5

6

7

8

9

10

B

C

A

D

B

A

B

C

A

C

11

12

13

14

15

16

17

18

19

20

B

C

A

B

D

C

A

B

D

B

21

22

23

24

25

26

27

28

29

30

A

C

D

B

A

B

D

C

C

B

31

32

33

34

35

36

37

38

39

40

D

A

A

B

C

D

A

C

B

D

41

42

43

44

45

46

47

48

49

50

A

B

C

A

B

C

B

C

C

A

51

52

53

54

55

56

57

58

59

60

D

B

C

A

C

B

B

C

A

D
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